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sel+l deusS 7 €id oL,
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Jootand = (a]a%
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(b) 2ala Yrdu yeu () dlig 4d d Bigal (aa xl Brdl) kL.
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=(x-23%x+ D2 [3x - 2) + 4(x + 1]
= (x-283x+ 1)? [7Tx - 2]
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2
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X =2 M :
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oo flo) Box o= 2 o el YAdH He Mud 9.
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f'{x) = 2cosx sinx + cos x

= cosx [1 — 2sin x]
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¢l dgd wdsn Vo= % nR*H
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LV = %nr sin? @ - r(1 + cos8)

%m‘?' sin® @ (1 + cos8)
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1 .
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OA=0B=r
Wi 5 BM=R
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AM = H
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¢l dlgd wds V= % nR?H
} | |
LV = gurrrzsm2 0-r(1+ cosB)

= %nrg' sin® 0 (1 + cos0)

. ﬂ = l nrd [Zsine cosO (1 + cosO) — sin® 9]

de
= l nre sin® [20059 + 2cos® 0 — sin? 9}
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(a, b) WR auq [a9a ©.

w 3R flx) B [a, b] Guz ewvdifad 9.
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o Ce (x, xy) HA 5 %l
FC) = flxp) — flxy)
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o 0 > 0 kL.
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- =
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X
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